### BEFORE THE FLORIDA PUBLIC SERVICE COMMISSION

IN RE: Fuel and Purchased Power	)	DOCKET NO. 080001-EI
Cost Recovery Clause and	)	FILED: October 6, 2008
Generating Performance	)	
Incentive Factor	)	

# FLORIDA POWER & LIGHT COMPANY'S LIST OF ISSUES AND POSITIONS

### **FUEL ADJUSTMENT ISSUES**

**ISSUE 1:** What are the appropriate final fuel adjustment true-up amounts for the period January, 2007 through December, 2007?

**FPL:** \$121,036,106 under-recovery. (DUBIN)

What are the appropriate estimated/actual fuel adjustment true-up amounts for the period January, 2008 through December 2008?

**FPL:** \$296,048,402 under-recovery. (DUBIN)

**ISSUE 3:** What are the appropriate total fuel adjustment true-up amounts to be collected/refunded from January, 2009 through December, 2009?

**FPL:** \$296,048,402 under-recovery. (DUBIN)

What is the appropriate revenue tax factor to be applied in calculating each investor-owned electric utility's levelized fuel factor for the projection period January, 2009 through December, 2009?

**FPL:** 1.00072. (DUBIN)

What are the appropriate projected net fuel and purchased power cost recovery amounts to be included in the recovery factor for the period January, 2009 through December, 2009?

**FPL:** \$7,027,720,757. (DUBIN)

What are the appropriate levelized fuel cost recovery factors for the period January, 2009 through December, 2009?

**FPL:** 6.744 cents/kWh for January through May 2009, 6.603 cents/kWh for June through October 2009, 6.475 cents/kWh for November – December 2009. (DUBIN)

What are the appropriate fuel recovery line loss multipliers to be used in calculating the fuel cost recovery factors charged to each rate class/delivery voltage level class?

**FPL:** The appropriate Fuel Cost Recovery Loss Multipliers are provided in response to Issue No. 8. (DUBIN)

**ISSUE 8:** What are the appropriate fuel cost recovery factors for each rate class/delivery voltage level class adjusted for line losses?

FPL:

### FLORIDA POWER & LIGHT COMPANY

## FUEL RECOVERY FACTORS - BY RATE GROUP (ADJUSTED FOR LINE/TRANSFORMATION LOSSES)

### JANUARY 2009 - MAY 2009

(1)	(2)	(3)	(4)	(5)
GROUP	RATE SCHEDULE	AVERAGE FACTOR	FUEL RECOVERY LOSS MULTIPLIER	FUEL RECOVERY FACTOR
Α	RS-1 first 1,000 kWh all additional kWh	6.744 6.744	1.00183 1.00183	6.413 7.413
Α	GS-1, SL-2, GSCU-1, WIES-1	6.744	1.00183	6.757
A-1*	SL-1, OL-1, PL-1	6.569	1.00183	6.581
В	GSD-1	6.744	1.00178	6.756
С	GSLD-1 & CS-1	6.744	1.00078	6.750
D	GSLD-2, CS-2, OS-2 & MET	6.744	0.99318	6.698
Е	GSLD-3 & CS-3	6.744	0.95923	6.469
Α	RST-1, GST-1 ON-PEAK OFF-PEAK	7.546 6.383	1.00183 1.00183	7.559 6.395
В	GSDT-1, CILC-1(G), ON-PEAK HLFT-1 (21-499 kW) OFF-PEAK	7.546 6.383	1.00177 1.00177	7.559 6.394
С	GSLDT-1, CST-1, ON-PEAK HLFT-2 (500-1,999 kW) OFF-PEA		1.00093 1.00093	7.553 6.389
D	GSLDT-2, CST-2, ON-PEAK HLFT-3 (2,000+) OFF-PEAK	7.546 6.383	0.99481 0.99481	7.506 6.350
E	GSLDT-3, CST-3, ON-PEAK CILC -1(T) OFF-PEAK & ISST-1(T)	7.546 6.383	0.95923 0.95923	7.238 6.123
F	CILC -1(D) & ON-PEAK ISST-1(D) OFF-PEAK	7.546 6.383	0.99371 0.99371	7.498 6.343

<sup>\*</sup> WEIGHTED AVERAGE 16% ON-PEAK AND 84% OFF-PEAK

### FLORIDA POWER & LIGHT COMPANY

## FUEL RECOVERY FACTORS - BY RATE GROUP (ADJUSTED FOR LINE/TRANSFORMATION LOSSES)

### JUNE 2009 - OCTOBER 2009

(1)	(2) RATE	(3) AVERAGE		
GROUP	SCHEDULE	FACTOR	LOSS MULTIPLIER	FACTOR
Α	RS-1 first 1,000 kWh all additional kWh	6.603 6.603	1.00183 1.00183	6.272 7.272
Α	GS-1, SL-2, GSCU-1, WIES-1	6.603	1.00183	6.615
A-1*	SL-1, OL-1, PL-1	6.428	1.00183	6.440
В	GSD-1	6.603	1.00178	6.615
С	GSLD-1 & CS-1	6.603	1.00078	6.608
D	GSLD-2, CS-2, OS-2 & MET	6.603	0.99318	6.558
Е	GSLD-3 & CS-3	6.603	0.95923	6.334
Α	RST-1, GST-1 ON-PEAK OFF-PEAK	7.405 6.242	1.00183 1.00183	7.418 6.253
В	GSDT-1, CILC-1(G), ON-PEAK HLFT-1 (21-499 kW) OFF-PEAK	7.405 6.242	1.00177 1.00177	7.418 6.253
С	GSLDT-1, CST-1, ON-PEAK HLFT-2 (500-1,999 kW) OFF-PEAK		1.00093 1.00093	7.411 6.248
D	GSLDT-2, CST-2, ON-PEAK HLFT-3 (2,000+) OFF-PEAK	7.405 6.242	0.99481 0.99481	7.366 6.209
E	GSLDT-3, CST-3, ON-PEAK CILC -1(T) OFF-PEAK & ISST-1(T)	7.405 6.242	0.95923 0.95923	7.103 5.987
F	CILC -1(D) & ON-PEAK ISST-1(D) OFF-PEAK	7.405 6.242	0.99371 0.99371	7.358 6.203

WEIGHTED AVERAGE 16% ON-PEAK AND 84% OFF-PEAK

### FLORIDA POWER & LIGHT COMPANY

# FUEL RECOVERY FACTORS - BY RATE GROUP (ADJUSTED FOR LINE/TRANSFORMATION LOSSES)

### NOVEMBER 2009 - DECEMBER 2009

(1)	(2) RATE	(3) AVERAGE	(4) FUEL RECOVERY	(5) FUEL RECOVERY
GROUP	SCHEDULE	FACTOR	LOSS MULTIPLIER	FACTOR
Α	RS-1 first 1,000 kWh all additional kWh	6.475 6.475	1.00183 1.00183	6.144 7.144
Α	GS-1, SL-2, GSCU-1, WIES-1	6.475	1.00183	6.487
A-1*	SL-1, OL-1, PL-1	6.300	1.00183	6.312
В	GSD-1	6.475	1.00178	6.487
С	GSLD-1 & CS-1	6.475	1.00078	6.480
D	GSLD-2, CS-2, OS-2 & MET	6.475	0.99318	6.431
E	GSLD-3 & CS-3	6.475	0.95923	6.211
Α	RST-1, GST-1 ON-PEAK OFF-PEAK	7.277 6.114	1.00183 1.00183	7.290 6.125
В	GSDT-1, CILC-1(G), ON-PEAK HLFT-1 (21-499 kW) OFF-PEAK	7.277 6.114	1.00177 1.00177	7.289 6.125
С	GSLDT-1, CST-1, ON-PEAK HLFT-2 (500-1,999 kW) OFF-PEAK		1.00093 1.00093	7.283 6.120
D	GSLDT-2, CST-2, ON-PEAK HLFT-3 (2,000+) OFF-PEAK	7.277 6.114	0.99481 0.99481	7.239 6.082
E	GSLDT-3, CST-3, ON-PEAK CILC -1(T) OFF-PEAK & ISST-1(T)	7.277 6.114	0.95923 0.95923	6.980 5.865
F	CILC -1(D) & ON-PEAK ISST-1(D) OFF-PEAK	7.277 6.114	0.99371 0.99371	7.231 6.075

<sup>\*</sup> WEIGHTED AVERAGE 16% ON-PEAK AND 84% OFF-PEAK

#### FLORIDA POWER & LIGHT COMPANY

## DETERMINATION OF SEASONAL DEMAND TIME OF USE RIDER (SDTR) FUEL RECOVERY FACTORS

ON PEAK: JUNE 2009 THROUGH SEPTEMBER 2009 - WEEKDAYS 3:00 PM TO 6:00 PM OFF PEAK: ALL OTHER HOURS

(1)		(2)	(3)	(4)	(5) SDTR
GROUP		VISE APPLICABLE E SCHEDULE	AVERAGE FACTOR	FUEL RECOVERY LOSS MULTIPLIER	FUEL RECOVERY FACTOR
В	GSD(T)-1	ON-PEAK OFF-PEAK	7.394 6.354	1.00178 1.00178	7.407 6.365
С	GSLD(T)-1	ON-PEAK OFF-PEAK	7.394 6.354	1.00084 1.00084	7.400 6.359
D	GSLD(T)-2	ON-PEAK OFF-PEAK	7.394 6.354	0.99488 0.99488	7.356 6.321

Note: All other months served under the otherwise applicable rate schedule. See Schedule E-1E, Page 1 of 2.

(DUBIN)

**ISSUE 9:** What should be the effective date of the fuel adjustment charge and capacity cost recovery charge for billing purposes?

FPL: The company is requesting that the new Fuel cost Recovery factors for January through May, June through October, and November through December, become effective during these periods which will provide five months of billing on the January through May factor, five months of billing on the June through October factor and two months of billing on the November through December factor. FPL is requesting that the Capacity Cost Recovery factors become effective with customer bills for January 2009 through December 2009. This will provide for 12 months of billing on the Capacity Cost Recovery factors for all our customers. (DUBIN)

**ISSUE 10:** What are the appropriate actual benchmark levels for calendar year 2008 for gains on non-separated wholesale energy sales eligible for a shareholder incentive?

**FPL:** \$19,668,561. (DUBIN)

What are the appropriate estimated benchmark levels for calendar year 2009 for gains on non-separated wholesale energy sales eligible for a shareholder incentive?

**FPL:** \$18,812,528 subject to adjustments in the 2008 final true-up filing to include all actual data for the year 2008. (DUBIN)

### COMPANY-SPECIFIC FUEL ADJUSTMENT ISSUES

**ISSUE 13A:** Should the Commission approve as prudent, FPL's actions to mitigate the volatility of natural gas, residual oil and purchased power prices, as reported in FPL's April 2008 and September 2008 hedging reports?

**FPL:** FPL's actions to mitigate the price volatility of natural gas, residual oil and purchased power prices, as reported in FPL's April 2008 and September 2008 hedging reports are reasonable and prudent. (YUPP)

**ISSUE 13B:** Should the Commission approve FPL's 2009 Risk Management Plan?

FPL: Yes. On August 5, 2008, FPL filed a petition in this docket requesting approval of Hedging Order Clarification Guidelines (the "Hedging Guidelines"). The Hedging Guidelines were approved at the Commission's September 16, 2008 Agenda Conference. Section I of the Hedging Guidelines would provide for investor-owned utilities such as FPL to file a risk management plan covering the activities to be undertaken during the following calendar year for hedges applicable to subsequent years, and for the Commission to review such plans for approval in the annual fuel adjustment hearing held in November. FPL's Risk Management Plan is consistent with the Hedging Guidelines and should be approved. (YUPP)

**ISSUE 13C:** With respect to the outage extension at Turkey Point Unit 3 which was caused by a drilled hole in the pressurized piping, should customers or FPL be responsible for the additional fuel cost incurred as a result of the extension?

FPL: FPL's Replacement power costs constitute actual fuel and/or purchased power costs incurred in providing electric service to its customers. As such, they are properly recoverable through the FCR Clause just like any other power costs, unless they are shown to have been unnecessarily incurred because the utility could have avoided them had it acted prudently. There is nothing to suggest that FPL acted imprudently with respect to the deliberate bad act that led to the drilled hole. FPL complied fully with NRC requirements and industry standards in order to prevent improper access and deliberate criminal acts, and took extensive actions to swiftly and effectively investigate and inspect both Turkey Unit 3 and Unit 4 after the drilled hole in the pressurizer piping was discovered, enabling FPL to expeditiously return the plant to service with minimal disruption in production. FPL's actions at each step in this process were unquestionably reasonable and prudent. To deny recovery of replacement power costs even where a utility has acted prudently would be completely inconsistent with FPSC precedent and the purpose of the FCR Clause and with fundamental principles of ratemaking. It would put the utility at risk of not recovering its actual fuel costs whenever a nuclear plant is unexpectedly offline, even for reasons beyond the utility's control, and it would provide the utility no corresponding reward for having to bear this large risk. Such a policy would create a major disincentive to investments in any technology that has very low energy costs, including solar and wind as well as nuclear generation, which investments are important to helping achieve the state's energy security, fuel diversity and environmental goals. (DUBIN/JONES/AVERA)

- **ISSUE 13D:** Should the Commission approve FPL's proposal to reduce the Generation Base Rate Adjustment (GBRA) factor for the Turkey Point Unit 5 from 3.271 percent to 3.129 percent?
  - **FPL:** Yes. Pursuant to the Stipulation and Settlement Agreement approved by the Commission in Order No. PSC-05-0902-S-EI, issued September 14, 2005 in Docket 050045-EI, a revised GBRA factor has been computed based on the actual capital costs of Turkey Point Unit 5, using the same data and methodology incorporated in the initial GBRA Factor.
- **ISSUE 13E:** Is \$9,296,089 the appropriate true-up credit associated with the Turkey Point Unit 5 GBRA factor reduction?
  - **FPL:** Yes. Pursuant to the Stipulation and Settlement Agreement approved by the Commission in Order No. PSC-05-0902-S-EI, issued September 14, 2005 in Docket 050045-EI, once Turkey Point Unit 5's actual capital costs are known, if the unit's actual capital costs are less than the projected costs used to develop the initial GBRA Factor, a one-time credit is to be made through the capacity clause.
- **ISSUE 13F:** Should the Commission approve FPL's proposed GBRA factor of 3.583 percent for the West County Energy Center (WCEC) Unit 1?
  - FPL: Yes. Paragraph 17 of the Stipulation and Settlement Agreement approved by the Commission in Order No. PSC-05-0902-S-EI, issued September 14, 2005 in Docket 050045-EI, provides for a Generation Base Rate Adjustment (GBRA) to FPL's rates upon commercial operation of WCEC Unit 1. WCEC Unit 1, approved through the Florida Power Plant Siting Act, is expected to achieve commercial operation in June 2009. The computation of FPL's proposed GBRA factor for WCEC Unit 1 was made in accordance to the Stipulation and Settlement Agreement.

Consistent with the Settlement Agreement, FPL will begin applying the GBRA to meter readings made on or after the commercial in service date of WCEC Unit 1, which is expected to occur in June 2009. FPL will submit for the FPSC staff's administrative approval revised tariff sheets reflecting these new charges prior to the actual commercial in service date.

- **ISSUE 13G:** Should the Commission approve FPL's proposed GBRA factor of 3.154 percent for the WCEC Unit 2?
  - FPL: Yes. The Stipulation and Settlement Agreement approved by the Commission in Order No. PSC-05-0902-S-EI, issued September 14, 2005 in Docket 050045-EI, provides for a Generation Base Rate Adjustment (GBRA) to FPL's rates upon commercial operation of WCEC Unit 2. WCEC Unit 2, approved through the Florida Power Plant Siting Act, is expected to achieve commercial operation in November 2009. The computation of FPL's proposed GBRA factor for WCEC Unit 2 was made in accordance to the Stipulation and Settlement Agreement.

Consistent with the Settlement Agreement, FPL will begin applying the GBRA to meter readings made on or after the commercial in service date of WCEC Unit 2, which is expected to occur in November 2009. FPL will submit for the FPSC staff's administrative approval revised tariff sheets reflecting these new charges prior to the actual commercial in service date.

- **ISSUE 13H:** What is the appropriate calculation of fuel savings associated with the addition of the WCEC Units 1 and 2?
  - **FPL:** FPL utilized its POWRSYM model to quantify the benefits of WCEC Units 1 and 2, which is the same model that FPL uses to calculate the fuel costs that are included in FPL's projection filing. For this analysis FPL ran two individual cases for each unit, one with the new unit and one without the new unit, to determine fuel costs, and then compared the two cases to determine the savings for each unit. (YUPP)
- ISSUE 13I: Should the Commission approve FPL's proposal to levelize the Residential 1000 kWh Bill by offsetting the Generation Base Rate Adjustments (GBRAs) for West County Energy Center (WCEC) Units 1 and 2 with the fuel savings attributable to these new units?
  - FPL: Yes. FPL's proposal to levelize the Residential 1,000 kWh bill by offsetting the Generation Base Rate Adjustments (GBRA) as approved in Docket No. 060225-EI for WCEC Units 1 and 2 with the fuel savings attributable to these new units will provide all customer classes with a more stable bill in 2009. The fuel savings attributable to West County Units 1 and 2 are \$164,850,000 in 2009. Without levelization, the overall 1,000 kWh residential bill would increase in June 2009 from the level in effect for January to May 2009, when WCEC Unit 1 begins commercial operations and the WCEC Unit 1 GBRA becomes effective. Then, the overall 1,000 kWh residential bill would increase again in November 2009, when WCEC Unit 2 begins commercial operations and the WCEC Unit 2 GBRA becomes effective. FPL's proposal will eliminate these two step increases. (DUBIN)

- **ISSUE 13J:** Should the Commission approve FPL's Long-term Agreement for Full Requirement Electric Service with Lee County Electric Cooperative as prudent and consistent with the interests of FPL's retail customers?
  - FPL: Yes. The LCEC Agreement represents a large, long-term, discretionary commitment of FPL's resources to serving load outside its own retail service territory. The Agreement benefits LCEC customers by providing them with reliable, cost-effective power and increased diversity in the sources of that power, without being disadvantageous to FPL's own retail customers. The Agreement is thus a "win-win" proposition for LCEC, FPL's customers and the state of Florida as a whole. The Commission should confirm that it concurs with these conclusions so that FPL can move forward with implementing the Agreement. (GERRISH)
- ISSUE 13K: May FPL recover incremental O&M costs associated with non-separated off-system sales from combined cycle and conventional steam units commencing January 1, 2009, as it currently recovers such costs associated with sales from gas turbine units?
  - **FPL:** Yes. FPL does not currently recover incremental O&M costs associated with non-separated off-system sales from combined cycle and conventional steam units through either base rates or the fuel adjustment clause. Recovery of those costs through the fuel adjustment clause would be appropriate and consistent with the current treatment of incremental O&M costs associated with non-separated off-system sales from gas turbine units. (YUPP)
- **ISSUE 13L:** Does the fuel charge proposed by FPL contain items that do not change with the price of fuel, if so what is the amount included in its proposed fuel charge to cover these costs?
  - **FPL:** FPL objects to this issue, which has been proposed by FIPUG. The issue was not addressed in any of the IOUs' direct testimony, because FIPUG gave no indication until September 30 that it intended to raise the issue. Neither FIPUG nor any other intervenor has addressed the proposed issue in intervenor testimony and, as a result, there can be no rebuttal testimony addressing it. Finally, FIPUG has served no written discovery on this issue by the deadline for such discovery.

No purpose would be served by including this issue. The issue is purely factual, asking each IOU to identify whether it recovers through the fuel adjustment clause "items that do not change with the cost of fuel" and then, if so, to state the amount of such items in the IOU's projected fuel charges. There is no existing Commission policy that predicates recovery of costs through the fuel adjustment clause on the fact that the costs "change with the cost of fuel," so this factual information could not possibly be a basis for Commission action in this docket. In short, nothing would be accomplished by resolving this factual issue now.

Finally, this issue is not based upon a meaningful distinction as to what types of costs are properly recoverable through the fuel adjustment clause. The Commission's established policy, as stated in Order No. 14546, is that "Prudently incurred fossil fuel-related expenses which are subject to volatile changes should be recovered through an electric utility's fuel adjustment clause. The volatility of fossil fuel-related costs may be due to a number of factors including, but not necessarily limited, to: price, quantity, number of deliveries and distance." This issue effectively addresses only one of those volatility dimensions --price -- whereas fuel-related costs can clearly be volatile for several other, equally legitimate reasons. Addressing the issue as worded would lead to an artificial divide between costs that "change with the cost of fuel" and those that do not, even though many types of costs in the latter category are volatile, fuel-related costs that should be recovered through the fuel adjustment clause. (DUBIN)

### GENERATING PERFORMANCE INCENTIVE FACTOR (GPIF) ISSUES

What is the appropriate generation performance incentive factor (GPIF) reward or penalty for performance achieved during the period January, 2007 through December, 2007 for each investor-owned electric utility subject to the GPIF?

**FPL:** \$5,383,572 reward. (IRIZARRY)

**ISSUE 18:** What should the GPIF target/ranges be for the period January, 2009 through December, 2009 for each investor-owned electric utility subject to the GPIF?

**FPL:** The targets and ranges should be as set forth in the Testimony and Exhibits of F. Irizarry including the following:

PLANT/UNIT EAF TARGET (%)		HEAT RATE HR	
		TARGET	
		(BTU/KWH)	
Ft. MYERS 2	89.7	6,866	
LAUDERDALE 5	93.5	7,776	
MARTIN 4	92.0	7,080	
MARTIN 8	83.2	6,803	
MANATEE 3	92.7	6,975	
SANFORD 4	90.2	6,962	
SANFORD 5	88.4	6,969	
SCHERER 4	96.0	10,193	
ST. LUCIE 1	93.6	11,006	
ST. LUCIE 2	81.8	11,272	
TURKEY POINT 3	82.7	11,476	
TURKEY POINT 4	81.3	11,488	

(IRIZARRY)

### GENERIC CAPACITY COST RECOVERY FACTOR ISSUES

**ISSUE 23:** What are the appropriate final capacity cost recovery true-up amounts for the period January, 2007 through December, 2007?

**FPL:** \$3,707,455 under- recovery. (DUBIN)

What are the appropriate estimated/actual capacity cost recovery true-up amounts for the period January, 2008 through December, 2008?

**FPL:** \$26,832,716 under-recovery. (DUBIN)

What are the appropriate total capacity cost recovery true-up amounts to be collected/refunded during the period January, 2009 through December, 2009?

**FPL:** \$30,540,170 under-recovery. (DUBIN)

What are the appropriate projected net purchased power capacity cost recovery amounts to be included in the recovery factor for the period January, 2009 through December, 2009?

**FPL:** \$621,136,906. (DUBIN)

What are the appropriate jurisdictional separation factors to be applied to determine the capacity costs to be recovered during the period January, 2009 through December, 2009?

**FPL:** The appropriate jurisdictional separation factors are:

FPSC 98.76729%

FERC 1.23271% (DUBIN)

**ISSUE 28:** What are the appropriate capacity cost recovery factors for the period January, 2009 through December, 2009?

FPL: The following 2009 capacity cost recovery factors do not include the reduction of approximately \$38 million associated with FPL's Nuclear Power Plant Cost Recovery filing made in Docket No. 080009-EI on September 10, 2008. The capacity cost recovery factors for 2009 will be revised to reflect the approved Nuclear Power Plant Cost Recovery resulting from the Commission's decision in this docket on October 14, 2008. FPL's revised 2009 capacity cost recovery factors will be filed on October 15, 2008.

Capacity Capacity
Recovery Recovery

	Factor	Factor
	(\$/kw)	(\$/kwh)
RS1/RST1	-	0.00855
GS1/GST1/WIES1	-	0.00862
GSD1/GSDT1/HLFT1(21-499 kW)	2.55	-
OS2	-	0.00584
GSLD1/GSLDT1/CS1/CST1/HLFT2(500-1,999 kW)	3.19	-
GSLD2/GSLDT2/CS2/CST2/HLFT3(2,000+ kW)	3.16	-
GSLD3/GSLDT3/CS3/CST3	3.23	-
CILC D/CILC G	3.34	-
CILC T	3.22	-
MET	3.30	-
OL1/SL1/PL1	-	0.00140
SL2/ GSCU1	-	0.00517

RATE CLASS	CAPACITY RECOVERY FACTOR (RESERVATION DEMAND CHARGE) (\$/KW)	CAPACITY RECOVERY FACTOR (SUM OF DAILY DEMAND CHARGE) (\$/KW)
ISST1D	.40	.19
ISST1T	.39	.18
SST1T	.39	.18
SST1D1/SST1D2/SST1D3	.40	.19

(DUBIN)

### COMPANY-SPECIFIC CAPACITY COST RECOVERY FACTOR ISSUES

**ISSUE 30A:** What is the total system-wide dollar amount to be included in the capacity cost recovery charge in 2009 for nuclear power plant cost recovery pursuant to the Final Order issued in Docket No. 080119-EI?

**FPL:** \$220,529,243 (DUBIN)

**ISSUE 30B:** What adjustments, if any should be made to Florida Power & Light Company's incremental security costs related to the performance of security guards at the company's nuclear power plants?

**FPL:** This should not be an issue. FPL has removed from its 2009 capacity cost recovery charge the payroll amounts identified in Staff's May 12, 2008 capacity audit findings no. 1 and 2.

Respectfully submitted this 6th day of October, 2008.

R. Wade Litchfield, Esq. Vice President and General Counsel John T. Butler, Esq. Senior Attorney Florida Power & Light Company 700 Universe Boulevard Juno Beach, FL 33408 Telephone: (561) 304-5639 Facsimile: (561) 691-7135

By: /s/ John T. Butler
John T. Butler
Fla. Bar No. 283479

#### CERTIFICATE OF SERVICE

I, THE UNDERSIGNED COUNSEL, HEREBY CERTIFY that a true and correct copy of the foregoing has been furnished by electronic delivery on the 6<sup>th</sup> day of October, 2008, to the following:

Lisa Bennett, Esq.
Division of Legal Services
Florida Public Service Commission
2540 Shumard Oak Blvd.
Tallahassee, Florida 32399-0850

Lee L. Willis, Esq.
James D. Beasley, Esq.
Ausley & McMullen
Attorneys for Tampa Electric
P.O. Box 391
Tallahassee, Florida 32302

John W. McWhirter, Jr., Esq. McWhirter Reeves Attorneys for FIPUG P.O. Box 3350 Tampa, Florida 33601-3350

Jeffrey A. Stone, Esq. Russell A. Badders, Esq. Beggs & Lane Attorneys for Gulf Power 3395 P.O. Box 12950 Pensacola, Florida 32576-2950

Ms. Susan D. Ritenour Gulf Power Company One Energy Place Pensacola, Florida 32520-0780 J.R. Kelly, Esq.
Joseph A. McGlothlin, Esq.
Office of Public Counsel
c/o The Florida Legislature
111 West Madison Street, Room 812
Tallahassee, Florida 32399

John T. Burnett, Esq.
Progress Energy Service
Company, LLC
P.O. Box 14042
St. Petersburg, Florida 33733-4042

Norman H. Horton, Jr., Esq. Floyd R. Self, Esq. Messer, Caparello & Self Attorneys for FPUC P.O. Box 1876 Tallahassee, Florida 32302-1876

Cheryl Martin Florida Public Utilities Post Office Box 3395 West Palm Beach, Florida 33402-

Mr. Paul Lewis, Jr. Progress Energy Florida, Inc. 106 East College Ave., Suite 800 Tallahassee, GA 32301-7740 Ms. Paula K. Brown Tampa Electric Company Regulatory Affairs P.O. Box 111 Tampa, Florida 33601-0111

Robert Scheffel Wright, Esq. John T. LaVia, III, Esq. Young van Assenderp, P.A. 225 South Adams St., Suite 200 Tallahassee, FL 32301

Michael B. Twomey, Esq. Attorney for AARP P.O. Box 5256 Tallahassee, FL 32314-5256

White Springs Agricultural Chemicals, Inc. P.O. Box 300 White Springs, FL 32096 James W. Brew Brickfield, Burchette, et al 1025 Thomas Jefferson St., N.W Eight, West Tower Washington, DC 20007-0800

Cecilia Bradley Office of Attorney General The Capitol – PL01 Tallahassee, FL 32399-1050

By: /s/ John T. Butler
John T. Butler
Fla. Bar No. 283479